FRESS BHRIFHEFER £EHEER
LERER(GHOFEARLE)

EREZ FoFh EREZS =t [ERHEE] (AZFR—250F
- BRES | RARE | BRET | RABEE | BRES | RARE [ASIREER, F-ER—TES
BRF == fopny PO $BR [ER| @R [ER| @R [EER[|%E IR XOFHEAIE
e e L= B S B E: = B W e E-ES I iy [
- 28X FR
BHROEEE 2 2 2 121212 " qRsips/ REERA
5 8 X fe[ 2 2 2 | 2| 2| 2 | rstamp)
E|R E E E 4 2 2 2 2 2 2 3 3 4 | 4 5 5
Blx 2 @ #E 4 2 2222233 a]a]s]s [35Xk
o I = al > > ABABRR/HRPIRERQ2)
;L +OREAARE/MEHAT(Q)
(A DEIRIL2ERIERL
BB G 2 2 2 | 2] 2| 2 [REEER
B+ % a2 2 2 | 2 | 2 | 2 | [(Fta®fi]
;E BASEEZR 3 Al A3 A2 A3 6.0 6.0
g it R R 3 A4 A3 A2 A3 0,6 0,6
sl EBRFE 2 2 20 2,0 Hﬁﬁﬁ’ﬂ)
“wa 2 2 2 02 0.2 1 . .
& # & & * A2 F:‘iv%;?él/%ffrﬂ(z) [5tous
D #| 2 2 2] 2] 2 SENENEN S
HEEEE Y 2 | 2222 21]2] 2 2=
Aiﬁi*iﬁ/ﬂﬁﬂiﬁm
= FEE T /EMIQOERIC
M % L s} 9 S 131313 heRiiHAERR)
# % 0| 4 4| 4] 3 3 3 3 4| 4] s 6 | [(Et5Hifu]
% % m 3 4 4 o
gl = Al 2 2 2 [ 22213
s|2E— : T . ABABER/ HRBER ()
= > B +oRE AT/ MBEHRAQ)
% B = c| 2 3 3 (BH#HOBIRF2ERISRIRLT
Iz BEeEHmEA 3 2 2 FEZEER)
# ORR—Y/REELEELE/
& — - EYRR-052=4—23(2)
| [BEEAMEE] 2 2 2121212 | #@R0/%HIQU28R
2 Y B OE R 2 2 2 IEIRLE-E B EER)
% L7 B 4 5 5 [FtoEifi]
HlE|L ¥ £ B 2 2 2 N— . _
B =y 2 3 5 E{ﬂ?nﬁ’ﬂ.ﬁﬁﬁ/*xz
ﬂ £ B OB 2 2 3| 3 2 3 34
8 o B OB 2 3 2 |23 2 OFHRATLOTOT Sy
7 /BT A0 (2)
shoBify
_ﬁé * &[7~8| 3 N N FEEE I R e ke
|’ | 2 1 RN RN 2 | 2] 2| 2 [(5#FEHE]
52 £ — v 2 02 2.0 IINERERE AR
5 & I 2 2 #2 202040 20 BaBRR
= . d : : HREettRs
=E X 0 2 F2 20 A MEEA
T #F If 2 Y2 Y2 02[02]04]02| RKR—Y
£ @ m| 2 #2 02 -
HEIZa=s—davi| 3 3 3 3 3 3 ﬁ%?fﬁ%ﬂ%
xEstazr—sa1| 4 s [ss] s a[s]2l2]7]6]5]s '
% MIE-RBFI| 2 2 2 | 2] 2| 2 4 | 4] al s
Z[RE-KRBO| 2 3 |2 3 |2
X BE A 2 2 2
E K X EE 2 2 2
IR E & B 2 2 2 2 2 2 2 2 2
= [ERcEERE] 2 02 0.2
plff Il 2 2 2 [ 2]2]2
g|E | 0[ 2 2 2
L At PR o2 2 02| 2
IEMEELHER| 2~4 2 2
;‘;— E B o % 2~4 2 2
Blm 855105 2 o> 20
ERT 1| 2~6 02 02
& = T 4~8 3 3 6
# @ # B 3 28 28 | 28 | 28 | 23 || 28 | 28 |28.26] 19 || 84 | 84 [s4,82] 70
2 M ® B § 5 02| o 02| 14
BAER| A—L—LiEE| 3 1 1 1 1 1 1 1 1 1 ENERE
REWEIERORRM | 3~6 1 1 1 1 1 1 1 1 1 3 3 3 3
BILEE) 2 2 2 2 2 2 2 2
-, 5t 30 30 [ 30 ]30]30f30[3f3f3f |s1]e]se
28+2 26+4| 30 |25+5] 30 |[[26+4| 30 |21+9]28+2




